# Necessary and Sufficient Conditions for the Existence of a Positive Definite Solution for the Matrix Equation $\boldsymbol{X}+\boldsymbol{A}^{*} \boldsymbol{X}^{-2} \boldsymbol{A}+\boldsymbol{B}^{*} \boldsymbol{X}^{-2} \boldsymbol{B}=\boldsymbol{I}$ 

Naglaa M. El - Shazly *<br>Department of Mathematics, Faculty of Science, Menoufia University, Shebin El-Koom, Egypt<br>* Corresponding author e - mail address: Naglaamoh1 @yahoo.com


#### Abstract

In this paper we derive necessary and sufficient conditions for the matrix equation $X+A^{*} X^{-2} A+B^{*} X^{-2} B=I$ to have a positive definite solution $X$, where, $I$ is an $n \times n$ identity matrix and $A$ and $B$ are $n \times n$ nonsingular complex matrices. We use these conditions to present some properties on the matrices $A$ and B.Moreover, relations between the solution $X$ and the matrices $A$ and $B$ are proposed.


Keywords: - Nonlinear matrix equation, positive definite solution, necessary and sufficient conditions.

## The math subject classification:

65-XX Numerical analysis
15-XX Linear and multilinear algebra; matrix theory

## 1-INTRODUCTION

Consider the nonlinear matrix equation
$X+A^{*} X^{-2} A+B^{*} X^{-2} B=I$
where $I$ is an $n \times n$ identity matrix, $A$ and $B$ are $n \times n$ nonsingular complex matrices,$\left(A^{*}, B^{*}\right.$ stand for the conjugate transpose of $A, B$ respectively). Throughout the paper, we denote by $r(A)$ the spectral radius of $A$. $\lambda(A)$ represents the eigenvalues of $A$ and the notation $A>B(A \geq B)$ indicates that $A-B$ is positive definite
(semidefinite). Several authors [1-17] have studied the existence, the perturbation analysis for some matrix equations, the rate of convergence as well as the necessary and sufficient conditions of the existence of positive definite solutions of similar kinds of nonlinear matrix equations. We organize this paper as follows: First, in section 2, we propose the necessary and sufficient conditions for the existence of a positive definite solution of Eq. (1.1). In section 3, some applications of the obtained results as well as relations between the solution $X$ and the matrices $A$ and $B$ are given.

## 2- NECESSARY AND SUFFICIENT CONDITIONS

In this section we drive both necessary and sufficient conditions for the existence of a positive definite solution of the nonlinear matrix equation (1.1).

## Theorem 2.1

The matrix equation (1.1) has a solution $X$ (symmetric and positive definite) if and only if $A$ and $B$ have the following factorization:

$$
\begin{equation*}
A=\left(M^{*} M\right) Z_{1}, \quad B=\left(M^{*} M\right) Z_{2} \tag{2.1}
\end{equation*}
$$

where $M$ is a nonsingular square matrix and the columns
of $\left(\begin{array}{l}M \\ Z_{1} \\ Z_{2}\end{array}\right)$ satisfy $M^{*} M+Z_{1}^{*} Z_{1}+Z_{2}^{*} Z_{2}=I$. In this case
we take $X=\left(M^{*} M\right)$ as a solution of the matrix Eq. (1.1).

## Proof:

If equation (1.1) has a solution $X$, then we can write $X$ as $X=\left(M^{*} M\right)$ for some nonsingular matrix $M$. In particular $M$ can be chosen to be triangular using Cholesky Decomposition in [18, p.141], so we have
$X+A^{*} X^{-2} A+B^{*} X^{-2} B$
$=M^{*} M+A^{*}\left(M^{*} M\right)^{-1}\left(M^{*} M\right)^{-1} A+B^{*}\left(M^{*} M\right)^{-1}\left(M^{*} M\right)^{-1} B$
then equation (1.1) can be rewritten as

$$
\begin{aligned}
M^{*} M & +\left(M^{-1} M^{*-1} A\right)^{*}\left(M^{-1} M^{*-1} A\right) \\
+ & \left(M^{-1} M^{*-1} B\right)^{*}\left(M^{-1} M^{*-1} B\right)=I
\end{aligned}
$$

or equivalently
$\left(\begin{array}{c}M \\ M^{-1} M^{*-1} A \\ M^{-1} M^{*-1} B\end{array}\right)^{*}\left(\begin{array}{c}M \\ M^{-1} M^{*-1} A \\ M^{-1} M^{*-1} B\end{array}\right)=I$
Let $M^{-1} M^{*-1} A=Z_{1}$ and $M^{-1} M^{*-1} B=Z_{2}$.
Then $A=\left(M^{*} M\right) Z_{1} \quad, \quad B=\left(M^{*} M\right) Z_{2}$
and (2.2) means that $M^{*} M+Z_{1}^{*} Z_{1}+Z_{2}^{*} Z_{2}=I$.
Conversely, suppose that $A$ and $B$ admit the decomposition (2.1). Set $X=\left(M^{*} M\right)$. Then

$$
\begin{aligned}
X & +A^{*} X^{-2} A+B^{*} X^{-2} B \\
= & M^{*} M+\left(\left(M^{*} M\right) Z_{l}\right)^{*}\left(M^{*} M\right)^{-2}\left(\left(M^{*} M\right) Z_{l}\right) \\
& +\left(\left(M^{*} M\right) Z_{2}\right)^{*}\left(M^{*} M\right)^{-2}\left(\left(M^{*} M\right) Z_{2}\right) \\
= & M^{*} M+\left(Z_{1}^{*} M^{*} M\right)\left(M^{*} M\right)^{-2}\left(\left(M^{*} M\right) Z_{l}\right) \\
& +\left(Z_{2}^{*} M^{*} M\right)\left(M^{*} M\right)^{-2}\left(\left(M^{*} M\right) Z_{2}\right) \\
= & M^{*} M+Z_{1}^{*} Z_{1}+Z_{2}^{*} Z_{2}=I
\end{aligned}
$$

i.e., $X$ is a solution to the matrix equation (1.1).

## Theorem 2.2

The matrix equation (1.1) has a solution if and only if there exist unitary matrices $P, U_{2}$ and $U_{3}$ and diagonal matrices $\quad \Gamma>0, \quad \Sigma \geq 0 \quad$ and $\quad \Psi \geq 0 \quad$ with $\left(2 \Gamma^{2}+\Sigma^{2}+\Psi^{2}\right)=I$ such that:
$A=2 P^{*} \Gamma^{2} P U_{2} \Sigma P, B=2 P^{*} \Gamma^{2} P U_{3} \Psi P$
In this case $X=2 P^{*} \Gamma^{2} P$ is a solution of equation (1.1).

## Proof:

Suppose the matrix equation (1.1) has a solution. Then from Theorem $2.1 \quad A$ and $B$ admit the forms $A=\left(M^{*} M\right) Z_{1} \quad, \quad B=\left(M^{*} M\right) Z_{2} \quad$. Since the columns of $\left(\begin{array}{l}M \\ Z_{1} \\ Z_{2}\end{array}\right)$ satisfy $M^{*} M+Z_{1}^{*} Z_{1}+Z_{2}^{*} Z_{2}=I$, it can be extended to the matrix $\left(\begin{array}{ccc}M & U & K_{1} \\ Z_{1} & V_{1} & K_{2} \\ Z_{2} & V_{2} & K_{3}\end{array}\right)$ and apply (C-S decomposition) in [18, p. 77] and [19, p. 37], there exist unitary matrices $U_{1}, U_{2}, U_{3}, P, Q, R$ and diagonal matrices $\Gamma>0, \Sigma \geq 0$ and $\Psi \geq 0$ such that:

$$
\begin{aligned}
& \left(\begin{array}{ccc}
M & U & K_{1} \\
Z_{1} & V_{1} & K_{2} \\
Z_{2} & V_{2} & K_{3}
\end{array}\right) \\
& =\left(\begin{array}{ccc}
U_{1} & 0 & 0 \\
0 & U_{2} & 0 \\
0 & 0 & U_{3}
\end{array}\right)\left(\begin{array}{ccc}
\sqrt{2} \Gamma & -\Sigma & -\frac{\Psi}{\sqrt{2} \Gamma} \\
\Sigma & \sqrt{2} \Gamma & 0 \\
\Psi & 0 & 1
\end{array}\right)\left(\begin{array}{lll}
P & 0 & 0 \\
0 & Q & 0 \\
0 & 0 & R
\end{array}\right)
\end{aligned}
$$

where $\left(2 \Gamma^{2}+\Sigma^{2}+\Psi^{2}\right)=I$.
So $M=\sqrt{2} U_{1} \Gamma P, Z_{1}=U_{2} \Sigma P$ and $Z_{2}=U_{3} \Psi P$
Then (2.1) can be rewritten as follows:
$A=2 P^{*} \Gamma^{2} P U_{2} \Sigma P \quad, \quad B=2 P^{*} \Gamma^{2} P U_{3} \Psi P$
Conversely, suppose that $A$ and $B$ have the decomposition (2.3). Let $X=2 P^{*} \Gamma^{2} P$. Then

$$
\begin{aligned}
\therefore X & +A^{*} X^{-2} A+B^{*} X^{-2} B=2 P^{*} \Gamma^{2} P \\
& +\left(2 P^{*} \Gamma^{2} P U_{2} \Sigma P\right)^{*}\left(2 P^{*} \Gamma^{2} P\right)^{-2}\left(2 P^{*} \Gamma^{2} P U_{2} \Sigma P\right) \\
& +\left(2 P^{*} \Gamma^{2} P U_{3} \Psi P\right)^{*}\left(2 P^{*} \Gamma^{2} P\right)^{-2}\left(2 P^{*} \Gamma^{2} P U_{3} \Psi P\right) \\
= & 2 P^{*} \Gamma^{2} P+P^{*} \Sigma U_{2}^{*}\left(P^{*} \Gamma^{2} P\right)\left(P^{*} \Gamma^{2} P\right)^{-2}\left(P^{*} \Gamma^{2} P\right) U_{2} \Sigma P \\
& +P^{*} \Psi U_{3}^{*}\left(P^{*} \Gamma^{2} P\right)\left(P^{*} \Gamma^{2} P\right)^{-2}\left(P^{*} \Gamma^{2} P\right) U_{3} \Psi P \\
= & 2 P^{*} \Gamma^{2} P+P^{*} \Sigma^{2} P+P^{*} \Psi^{2} P \\
= & P^{*}\left(2 \Gamma^{2}+\Sigma^{2}+\Psi^{2}\right) P=I
\end{aligned}
$$

this shows that $X$ is a solution to the matrix Eq. (1.1).

## 3. MAIN RESULTS

In this section, we propose some properties of the equation (1.1) and we present relations between the solution $X$ and the matrices $A$ and $B$.

## Theorem 3.1

If the matrix equation (1.1) has a positive definite solution $X$, then $\|A+B\|<1$

## Proof:

Suppose that Eq. (1.1) has a solution., then by Theorem 2.2, $A$ and $B$ have the decomposition (2.3).Then

$$
\begin{aligned}
\|A+B\| & =\left\|2 P^{*} \Gamma^{2} P U_{2} \Sigma P+2 P^{*} \Gamma^{2} P U_{3} \Psi P\right\| \\
& \leq\left\|2 P^{*} \Gamma^{2} P U_{2} \Sigma P\right\|+\left\|2 P^{*} \Gamma^{2} P U_{3} \Psi P\right\| \\
& \leq 2\left\|P^{*} \Gamma^{2} P\right\|\left\|U_{2}\right\|\|\Sigma\|\|P\| \\
& +2\left\|P^{*} \Gamma^{2} P\right\|\left\|U_{3}\right\|\|\Psi\|\|P\|
\end{aligned}
$$

Since the matrices $U_{2}, U_{3}$ and $P$ are unitary,

$$
\begin{aligned}
\therefore\|A+B\| & \leq 2\left\|P^{*} \Gamma^{2} P\right\|\|\Sigma\|+2\left\|P^{*} \Gamma^{2} P\right\|\|\Psi\| \\
& \leq 2\left\|\Gamma^{2}\right\|\|\Sigma\|+2\left\|\Gamma^{2}\right\|\|\Psi\| \\
& =2\left\|\Gamma^{2}\right\|\{\|\Sigma\|+\|\Psi\|\}<1
\end{aligned}
$$

The last inequality follows from the fact
$\left(2 \Gamma^{2}+\Sigma^{2}+\Psi^{2}\right)=I$, which yields that $\|\Gamma\| \leq \frac{1}{2}$,
$\|\Sigma\|<1$ and $\|\Psi\|<1$

## Theorem 3.2

Suppose that the matrix equation (1.1) has a positive definite solution $X$, then the following hold:
(i) $X^{2}>A A^{*}+B B^{*}$
(ii) $r(A+B) \leq \frac{1}{2}$
(iii) $r\left(X^{\frac{-1}{2}} A+X^{\frac{-1}{2}} B-A^{*} X^{\frac{-1}{2}}-B^{*} X^{\frac{-1}{2}}\right) \leq 1$
(iv) $r\left(X^{\frac{-1}{2}} A+X^{\frac{-1}{2}} B+A^{*} X^{\frac{-1}{2}}+B^{*} X^{\frac{-1}{2}}\right) \leq 1$

## Proof:

(i): By Theorem 2.1 we have, $X=\left(M^{*} M\right)$ and

$$
A=\left(M^{*} M\right) Z_{1} \quad, \quad B=\left(M^{*} M\right) Z_{2}
$$

Then

$$
\begin{aligned}
X^{2}-A A^{*}-B B^{*}= & \left(M^{*} M\right)^{2}-\left(M^{*} M\right) Z_{1} Z_{1}^{*}\left(M^{*} M\right) \\
& -\left(M^{*} M\right) Z_{2} Z_{2}^{*}\left(M^{*} M\right) \\
= & \left(M^{*} M\right)\left(I-Z_{1} Z_{1}^{*}-Z_{2} Z_{2}^{*}\right)\left(M^{*} M\right)>0
\end{aligned}
$$

since $\lambda\left(Z_{i} Z_{i}^{*}\right)=\lambda\left(Z_{i}^{*} Z_{i}\right), \quad i=1,2 \quad$ and $I-\sum_{i=1}^{2} Z_{i}^{*} Z_{i}=M^{*} M>0$, so $I-Z_{1} Z_{1}^{*}-Z_{2} Z_{2}^{*}>0$.

Thus, part (i) is proved.
(ii): Using Theorem 3.1 we get,

$$
\begin{aligned}
\lambda(A+B) & =\lambda\left(2 P^{*} \Gamma^{2} P U_{2} \Sigma P+2 P^{*} \Gamma^{2} P U_{3} \Psi P\right) \\
r(A+B) & =\max \left|\lambda_{i}\left(2 P^{*} \Gamma^{2} P U_{2} \Sigma P+2 P^{*} \Gamma^{2} P U_{3} \Psi P\right)\right| \\
& \leq\left\|2 P^{*} \Gamma^{2} P U_{2} \Sigma P+2 P^{*} \Gamma^{2} P U_{3} \Psi P\right\| \\
& \leq\left\|2 P^{*} \Gamma^{2} P U_{2} \Sigma P\right\|+\left\|2 P^{*} \Gamma^{2} P U_{3} \Psi P\right\| \\
& =2\left\|P^{*} \Sigma \Gamma^{2} P\right\|+2\left\|P^{*} \Psi \Gamma^{2} P\right\| \\
& =2\left\|\Sigma \Gamma^{2}\right\|+2\left\|\Psi \Gamma^{2}\right\| \\
& \leq 2\|\Sigma \Gamma\|\|\Gamma\|+2\|\Psi \Gamma\|\|\Gamma\| \\
& \leq\|\Sigma \Gamma\|+\|\Psi \Gamma\|
\end{aligned}
$$

Let $\Sigma=\operatorname{diag}\left(\sigma_{i}\right), \Gamma=\operatorname{diag}\left(\gamma_{i}\right), \quad \Psi=\operatorname{diag}\left(\psi_{i}\right)$.
Then $\sigma_{i}^{2}+2 \gamma_{i}^{2}+\psi_{i}^{2}=1$ and $\|\Gamma\| \leq \frac{1}{2}$. Thus

$$
\begin{aligned}
r(A+B) & \leq\|\Sigma \Gamma\|+\|\Psi \Gamma\| \\
& =\max _{i}\left\{\sigma_{i} \gamma_{i}\right\}+\max _{i}\left\{\psi_{i} \gamma_{i}\right\} \\
& \leq \max _{i} \frac{\sigma_{i}^{2}+2 \gamma_{i}^{2}+\psi_{i}^{2}}{2}=\frac{1}{2}
\end{aligned}
$$

(iii): Appling Lemma 6 in [20], we get

$$
\begin{aligned}
& r\left(X^{\frac{-1}{2}} A+X^{\frac{-1}{2}} B-A^{*} X^{\frac{-1}{2}}-B^{*} X^{\frac{-1}{2}}\right) \\
& =r\binom{\left(M^{*} M\right)^{\frac{-1}{2}}\left(\left(M^{*} M\right) Z_{1}\right)+\left(M^{*} M\right)^{\frac{-1}{2}}\left(\left(M^{*} M\right) Z_{2}\right)}{-\left(Z_{1}^{*}\left(M^{*} M\right)\right)\left(M^{*} M\right)^{\frac{-1}{2}}-\left(Z_{2}^{*}\left(M^{*} M\right)\right)\left(M^{*} M\right)^{\frac{-1}{2}}} \\
& =r\binom{\left(M^{*} M\right)^{\frac{1}{2}} Z_{1}+\left(M^{*} M\right)^{\frac{1}{2}} Z_{2}}{-Z_{1}^{*}\left(M^{*} M\right)^{\frac{1}{2}}-Z_{2}^{*}\left(M^{*} M\right)^{\frac{1}{2}}} \\
& \leq r\left(M^{*} M+Z_{1}^{*} Z_{1}+Z_{2}^{*} Z_{2}\right) \\
& =r(I)=1
\end{aligned}
$$

(iv):

$$
\begin{aligned}
& I \pm\left(X^{\frac{-1}{2}} A+X^{\frac{-1}{2}} B+A^{*} X^{\frac{-1}{2}}+B^{*} X^{\frac{-1}{2}}\right) \\
& =M^{*} M+Z_{1}^{*} Z_{1}+Z_{2}^{*} Z_{2} \pm\binom{\left(M^{*} M\right)^{\frac{1}{2}} Z_{1}+\left(M^{*} M\right)^{\frac{1}{2}} Z_{2}}{+Z_{1}^{*}\left(M^{*} M\right)^{\frac{1}{2}}+Z_{2}^{*}\left(M^{*} M\right)^{\frac{1}{2}}} \\
& =\left(M^{*} M \pm Z_{1}^{*} Z_{1} \pm Z_{2}^{*} Z_{2}\right)^{*}\left(M^{*} M \pm Z_{1}^{*} Z_{1} \pm Z_{2}^{*} Z_{2}\right) \geq 0
\end{aligned}
$$

Therefore,

$$
r\left(X^{\frac{-1}{2}} A+X^{\frac{-1}{2}} B+A^{*} X^{\frac{-1}{2}}+B^{*} X^{\frac{-1}{2}}\right) \leq 1
$$

## 4- CONCLUSION

In this paper both necessary and sufficient conditions for the nonlinear matrix equation $X+A^{*} X^{-2} A+B^{*} X^{-2} B=I$ to have a positive definite solution $X$ are derived, where $A$ and $B$ are $n \times n$ nonsingular complex matrices. Some properties on the matrices $A$ and $B$ are presented. Also, relations between the positive definite solution $X$ and the matrices $A$ and $B$ are given.

## ACKNOWLEDGEMENTS

The author acknowledges the reviewers for reviewing the manuscript.

## REFERENCES

[1] X. Duan, A. Liao and B. Tang " On the nonlinear matrix equation $X-\sum_{i=1}^{m} A_{i}^{*} X^{\delta_{i}} A_{i}=Q$," Linear Algebra and its Applications 429, 110-121 (2008).
[2] S. M. El-Sayed and M. A. Ramadan, " On the Existence of the Matrix Equation $X-A * 2^{m} \sqrt{X^{-1}} A=I$, " Intern. J. Computer Math., Vol. 76, pp. 331-338 (2001).
[3] J.C. Engwerda, A. C.M. Ran and A. L. Rijkeboer, " Necessary and Sufficient Conditions for the Existence of Positive Definite Solutions of the Matrix Equation $X+A^{*} X^{-1} A=Q$, " Linear Algebra Appl. 186, 255-275 (1993).
[4] X. Zhan and J. Xie, " On the Matrix Equation $X+A^{T} X^{-1} A=I$, " Linear Algebra Appl. 247, 337-345 (1996).
[5] C. H. Guo and P. Lancaster, "Iterative Solution of two Matrix Equations, " Math. of Comp. 228, 1589-1603 (1999).
[6] I. G. Ivanov, V. I. Hassanov and B. V. Minchev, "On the Matrix Equations $X \pm A^{T} X^{-2} A=I$," Linear Algebra Appl. 326, pp.27-44 (2001).
[7] B. Meini, " Efficient Computation of the Extreme Solutions of $X+A^{*} X^{-1} A=Q$ and $X-A^{*} X^{-1} A=Q$, " Math. Comp., Vol.71, No. 239, pp. 1189-1204 (2001).
[8] Z. Y. Peng, S. M. El- Sayed and X. L. Zhang "Iterative methods for the extremal positive definite solution of the matrix equation $X+A^{*} X^{-\alpha} A=Q$," Appl. Math. Comp, 200, 520-527 (2007).
[9] M. A. Ramadan, " Necessary and Sufficient Conditions to the Existence of Positive definite Solution of the Matrix Equation $X+A^{T} X^{-2} A=I$," Inter. J. Computer Math., Vol.82, No. 7 July, pp.865-870 (2005).
[10] M. A. Ramadan, " On the existence of extremal positive definite solution of the matrix equation $X+A^{T} \sqrt{X^{-1}} A=I$, " Int. J. Nonlinear Sci. Numer. Simulat. 6(2), 115-126 (2005).
[11] M. A. Ramadan and Naglaa M. El-Shazly, "On the matrix equation $X+A^{* 2^{m}} \sqrt{X^{-1}} A=I$," Appl. Math. Comp, 173, pp.992-1013 (2006).
[12] A.M. Sarhan, Naglaa M. El-Shazly and Enas M. Shehata, " On the existence of extremal positive definite solutions of the nonlinear matrix equation $X^{r}+\sum_{i=1}^{m} A_{i}^{*} X^{\delta_{i}} A_{i}=I$," Mathematical and Computer Modelling 51,1107-1117 (2010).
[13] A.M. Sarhan and Naglaa M. El-Shazly, " Investigation of the existence and uniquenessof extremal and positive definite solutions of nonlinear matrix equations "Journal of Inequalities and Applications, (2016)
[14] S. F. Xu, " Perturbation Analysis of the Maximal Solution of the Matrix Equation $X+A^{*} X^{-1} A=P$, " Linear Algebra Appl. 336, 61-70 (2001).
[15] Jian- hui Long, Xi- yan Hu and Lei Zhang, " On the Hermitian positive definite solution of the nonlinear matrix equation $X+A^{*} X^{-1} A+B^{*} X^{-1} B=I$," Bull. Braz. Math. Soc. 39 (2008) 371-386.
[16] Sarah Vaezzadeh, Seyyed M. Vaezpour, Reza Saadati and Choonkil Park, " The iterative methods for solving nonlinear matrix equation $X+A^{*} X^{-1} A+B^{*} X^{-1} B=Q$," Advances in Difference Equations, (2013).
[17] Naglaa M. El- Shazly, " On the perturbation estimates of the maximal solution for the matrix equation $X+A^{T} \sqrt{X^{-1}} A=P$," Journal of the Egyptian Mathematical Society, 24 (2016), 644-649.
[18] G. H. Golub and C. F. Van Loan, " Matrix Computations, " Johns Hopkins Univ. Press. Baltimore (1989).
[19] G. W. Stewart and J. G. Sun, " Matrix Perturbation Theory, "
Academic Press, Boston, Mass, USA, 1990.
[20] J.C. Engwerda, " On the Existence of a Positive Solution of the Matrix Equation $X+A^{T} X^{-1} A=I$, " Linear Algebra Appl. 194, 91-108 (1993).

